
(i) Printed Pages : 8] Roll No

(ii) Questions : 9+9+9] Sub. Code :

Exam. Code :

Master of Arts 1st Semester Examination

1127
ECONOMICS

(Micro Economics-I)
Paper : MAECO-101

(In All Mediums)
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Note :- Attempt five questions in all, including Q. No. 1

which is compulsory. Attempt ten small questions

from this question 1. Choose one question each from

other four Units respectively.

(Compulsory Question)

1. Attempt any ten questions in 25-30 words each :

(a) Indifference curve

(b) Weak axiom revealed preference approach

(c) Invisible hand
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(d) Inductive method

(e) Static Equilibrium

(f) Opportunity Cost

(g) Explain people think at margin

(h) Why do people gamble ?

(i) Explain consistency of choice

(j) Income leisure trade off

(k) Veblen effect

0) Moral hazard

(m) Envelope curve

(n) Modern LAC

(o) Expansion path 10x2=20

Unit-I

2. Write notes on the following :

(a) What are the three coordination tasks in an

economy ?

(b) Deductive method

3. Explain the uniqueness, stability and existence of

equilibrium under general equilibrium framework. 15,15

NA-205 ( 2 )



Unit-II

4. Explain the consumer equilibrium using revealed

preference approach.

5. What is consumer surplus ? Explain the concept of

consumer surplus under Hicksian approach. 15,15

Unit-Ill

6. Discuss consumer behaviour under asymmetric

information.

7. Explain the role of network externalities in increasing

market demand. 15,15

Unit-IV

8. Explain the substitution and output effect due to

changes in factor prices.

9. Write detailed notes on the following :

(a) Learning Curve

(b) Economies of Scope 15,15
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(xiv) angf^T LAC

(xv) 1%R3K ^T«T 10x2=20

2. Pi*-iRiRad "<TC

(3T) "O^T 3T«|oqq l̂T "3 cffa

(of) <irt)<* fsrfsi

3. ^IMM •U'̂ dH ^% ^ 3^pfcT •H-̂ dH

15, 15

4. cfO-Mcfl y=hldd rfHMIH ^>T ¥%! ^JT^ "S1̂ !̂ •H^crl-l

5.

«racf ^t a^^nr̂  ^\ ^f^i 15,15

6.

7.

^»H Î 15,15
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9.
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(iv)
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(vi)

(vii) Ht>F

(viii)
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(x)
(xi)

(xii)

(xiii)

(xiv)

(xv) feny!d iTff 10x2=20
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